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201 LB-2E| 1,000 4,100 A 3,100
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< 16,668
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J| 164,477
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J| 164,477
< 28,196
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f2us Ot3tool 22 20,000 0 20,000
201 B2l 20,000 0 20,000
01 At 22l 20,000 0 20,000
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OO0l BR2u=s &2 2 JIE2EH] 4,000
dFd a3 XA ,681,562 1,446,100 235,462
= 123,881
< 28,964
Al ,528,717
M =ot=a € UH 2=sH N ,384,400 1,430,100 245,700
301 gt d= , 384,400 1,430,100 245,700
01 MI2ZHE +06l= ,384,400 1,430,100 A 45,700
OXMOL S0t EM4=0t3 200,000
OZS MOt Ol& S0t El=0ot= 600,000
OAITOL Ol& sS40 I 2=sHl XA 584,400
OtOIED| ES2Me 228 22 10,000 2,000 8,000
< 2,000
Al 8,000
307 glz2tol & 10,000 2,000 8,000
< 2,000
Al 8,000
11T M SXAIS EX 10,000 2,000 8,000
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< 2,000
Al 8,000
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OHUXIZA LASHRA ZHEAY 399,000
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SH: OEISD
HE: 04 -0
Sl oS =X

SEXAIAE XS (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
03 Al&E 201 Y| 1,000 0 1,000
OEX 2 UNHGLA ZAAY 1,000
MEI=0lE REAMY 233,000 0 233,000
= 69,900
Al 163, 100
401 AlEHIZL 2 0HY| 233,000 0 233,000
= 69,900
Al 163, 100
01 Al& B 231,400 0 231,400
OS2SR MEI=0lH =4 231,400
= 69,420
Al 161,980
03 Al&E 201 Y| 1,600 0 1,600
O2AMHAZR MEI=06H =4 1,600
= 480
Al 1,120
OIS EZZNE Al 24 20,000 0 20,000
201 gEt24A | 20,000 0 20,000
01 AP 22| d| 10,000 0 10,000
OEEE8 HMZ 5,000
G X 2 E MW 29 5,000
03 Al H H| 10,000 0 10,000
Of¥3aAE ¢ MOIU, Z&E 4= 10,000
Ct23tAIS X & 1,517,798 1,381,693 136, 105
J| 576,337
= 250,768
Al 690,693
Ct23HAIS X & 1,517,798 1,381,693 136, 105
J| 576,337
&< 250,768
Al 690,693
CEsIIIEXNSNH 29 200,000 172,900 27,100
J| 92,500
& 27,750
Al 79,750
307 QI2t0| & 200,000 172,900 27,100
J| 92,500
= 27,750
Al 79,750
11T A EXAIEEX 200,000 172,900 27,100
OLUSSIIEXNIAHEH 29 200,000
J| 92,500
& 27,750
Al 79,750
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SN
X ZH -
L=}
SRk

eI
SEENEP !
CHE 8 A S| Xl &

(o
SN ZH-S(SA) - HRAY 0l &t o8 il HlnE2
&k

AEgs @ JUME s SR2USAHHA T3 241,992 219,600 22,392
| 154,274
< 22,039
Al 65,679

307 2Iztol ™ 241,992 219,600 22,392
J| 154,274
< 22,039
Al 65,679

11T AISI S XA E = 241,992 219,600 22,392
onHZs & JHHMEs d2NSMHHA X2 241,992
| 154,274
< 22,039
Al 65,679

CGh23ot= Atddl2tel X3 59,260 50,856 8,404
| 41,482
< 5,926
Al 11,852

307 glz2+0l & 59,260 50,856 8,404
| 41,482
< 5,926
Al 11,852

11 AISI S XA E X 59,260 50,856 8,404
OCZ3It= Atcll2tel X3 59,260
| 41,482
< 5,926
Al 11,852

Ct2StEXJAMEH SA=E X 27,700 27,409 291
< 11,080
Al 16,620

307 21201 A 27,700 27,409 291
< 11,080
Al 16,620

10 M2 SXNANEHEZSIHEXR 27,700 27,409 291
OUZINEXNJAEEH SAA XA 27,700
< 11,080
Al 16,620

ChE3NEXNHUEH SAL = 80,640 72,720 7,920
< 11,232
Al 69,408

307 glz2+ol & 80,640 72,720 7,920
< 11,232
Al 69,408

10 M SXNANEHI2IHE=X 80,640 72,720 7,920
OUISINEXNALE BSAA =& 80,640
< 11,232
Al 69,408




AR GRS =]
A

b
M O2A XA
&S OG2atAte X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
CENEXNHEH = 32,400 32,400 0
201 £B-2d| 32,400 32,400 0
01 At 22l 32,400 32,400 0
OUSAINEXNHAYH L2 (25~45) 32,400
o= Js&3d =4 53,700 48,448 5,252
J| 37,590
< 5,370
Al 10,740
307 glz2+ol & 53,700 48,448 5,252
J| 37,590
< 5,370
Al 10,740
11T MISXASEX 53,700 48,448 5,252
oolEeo IrsEd x4d 53,700
J| 37,590
< 5,370
Al 10,740
CEsts HHdoge X 91,950 85,110 6,840
J| 64,365
< 9,195
Al 18,390
307 21201 A 91,950 85,110 6,840
J| 64,365
< 9,195
Al 18,390
11T M3 SXAISEEX 91,950 85,110 6,840
oOtZaltE e XA 91,950
J| 64,365
= 9,195
Al 18,390
CtE30tE DELS0l At 108,000 108,000 0
= 21,600
Al 86,400
307 glz2tol & 108,000 108,000 0
< 21,600
Al 86,400
11T M SRAISE EX 108,000 108,000 0
OCt23ItE DELS0l ALY 108,000
= 21,600
Al 86,400
C23NHFEH 223 dFXNA 16,000 11,000 5,000
07 Q1201 & 16,000 11,000 5,000
02 HAFHAANHEEE 16,000 11,000 5,000
OCI23tAIL MASS XS AP AL (CH23
wWHH) 4,000
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01 & b= T}
CI23HAIS X &
Ct23tAISI X )
- _ _ RE]
SA BB (SH) - NRAY - B %Ei 2t
OZENFTOHYE HZSsMHZAl HEI(HEFAA
HAOHEols) 5,000
OZE0F0HAE AMSIBHES CH2ASX & (A
Hol ZHetHg) 4,000
OUR3IIE 44E ERNA 2 (2DSAME
Ltsdgsl) 3,000
Y I=ssdE 24 125,909 ,551 N 642
= 46,586
Al 79,323
307 2Iz2t0| & 125,909 ,551 ANB42
= 46,586
Al 79,323
11T A EXAIEEX 125,909 ,551 ANB642
o2=z4 oIssty 2949 125,909
& 46,586
Al 79,323
= LAE MNZ XS 10,000 ,000 0
& 4,000
Al 6,000
307 2iz2to| A 10,000 ,000 0
& 4,000
Al 6,000
11T A EXAIEEX 10,000 ,000 0
ottestdayd Nz XH 10,000
= 4,000
Al 6,000
sto| &AYs YO U231 &N 13,000 ,000 0
201 et 10,000 ,000 0
03 A2 | 10,000 ,000 0]
O23te H8E= 90 USSIrE0 M 5,000
ost= 18 23 HE 5,000
301 et A= 3,000 ,000 0
09 HAIAHI BEAZ 3,000 ,000 0
O23te d#8E= 90 U= &M 3,000
St2=HuUE 29 22,163 , 162 1
J| 15,514
= 2,217
Al 4,432
307 212t0| & 22,163 , 162 1
J| 15,514
o= 2,217
Al 4,432
11 A EXAIEEX 22,163 , 162 1
ost=0ns 2N 22,163
J| 15,514
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SAD SIS
dM: O23tAte XA
chel: OEtAE K& (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
== 2,217
Al 4,432
ZE0IA & - HIAMHIA XA 80,280 66,672 13,608
| 56,196
< 8,028
Al 16,056
307 glz2tol & 80,280 66,672 13,608
J| 56,196
< 8,028
Al 16,056
11 AISI S XA E = 80,280 66,672 13,608
OZE0I2A & - HAMHI A 80,280
| 56,196
< 8,028
Al 16,056
ZE0IQA HFE=HU=F 15,300 17,500 22,200
< 6,120
Al 9,180
307 21201 A 15,300 17,500 A2,200
< 6,120
Al 9,180
11 AISI S XA E X 15,300 17,500 22,200
OZE0IYUA HNP=EHWS 15,300
< 6,120
Al 9,180
ZE0/2X stHAFHSE X 50,000 53,000 A 3,000
< 20,000
Al 30,000
307 21201 A 50,000 53,000 A 3,000
= 20,000
Al 30,000
11 AL SXAEE X 50,000 53,000 A 3,000
OZE0I2A sAHFSE XA 50,000
< 20,000
Al 30,000
Z S0/ X s SHIX & 18,000 20,000 A 2,000
< 7,200
Al 10,800
301 LEtE A= 18,000 20,000 A 2,000
< 7,200
Al 10,800
01 MEIBEZE+06l= 18,000 20,000 A 2,000
OZEO0I2IA tHeh SHI XA 18,000
< 7,200
Al 10,800
ZHIIH0IFHEESAE 29X 175,129 153,245 21,884
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SN IS
@ﬂ.ﬂfﬂMll
el O3 AMEX (&)
o
SN EE B (BH) - B 0l &F 24 e Hl D= 2t
Il 110,566
< 17,612
Al 46,951
307 i+l & 175,129 163,245 21,884
| 110,566
< 17,612
Al 46,951
11T MISRAEE 175,129 153,245 21,884
CEE N TES 175,129
J| 110,566
< 17,612
Al 46,951
ZATIH0IFTHEESAME SALN = 8,440 21,120 A 12,680
< 2,532
Al 5,908
307 21201 A 8,440 21,120 A 12,680
< 2,532
Al 5,908
10 ALl S XTAIE & 8,440 21,120 212,680
o=Zg1adiol= 8,440
< 2,532
Al 5,908
ZA0H0I=HEESA 5,500 0 5,500
| 3,850
< 550
Al 1,100
402 2I2H X201 M 5,500 0 5,500
| 3,850
< 550
Al 1,100
02 RIZEAI 2 A E 5,500 0 5,500
o=g1aiol= 5,500
| 3,850
< 550
Al 1,100
Ct2stol el 2 A 82,435 0 82,435
< 21,731
Al 60,704
307 glz2+ol & 82,435 0 82,435
< 21,731
Al 60,704
11 AISI S XA E X 82,435 0 82,435
OL=2st0l=8=etA 82,435
< 21,731
Al 60,704
HAE2IAZH(HLIE) 1,165,832 1,111,944 53,888
= 613,748
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2AH: HEIL
H

g Z@%é%tll(@éiﬂf—ﬂ})
Crel: o2 oyl (0 AIIED) (el @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 152,699
Al 399,385
A IEHI(HAEIE) 1,072,496 1,020,960 51,536
= 613,748
< 152,699
Al 306,049
Ots=XI WAt ItA 763,496 732,960 30,536
= 381,748
< 152,699
Al 229,049
101 14 Hl 763,496 0 763,496
= 381,748
< 152,699
Al 229,049
03 RIAHAZ 22+ 763,496 0 763,496
OO0ts =X WA ItA 763,496
= 381,748
< 152,699
Al 229,049
FANS OIS SESAMEIA XA (12Hl) 309,000 288,000 21,000
= 232,000
Al 77,000
101 124l 309,000 288,000 21,000
= 232,000
Al 77,000
03 RIAHA2ZZ2RE S 309,000 288,000 21,000
ORIAHAZZX E= 309,000
= 232,000
Al 77,000
Jl2ZH (A=) 93,336 90,984 2,352
JI2ZH (A=) 93,336 90,984 2,352
201 Let24d] 48,216 45,864 2,352
01 At 2teltl 48,216 45,864 2,352
©FR<Iget=:] 22,400
o023+ 7,000
O= &l 18,816
202 O4dl 40,320 40,320 0
01 = LHA YI 40,320 40,320 0
OJIegRF=& A 40,320
203 YR =&l 4,800 4,800 0
04 FN2EHSZ=TH| 4,800 4,800 0
ORN2EYE=AHI 400,000& 123 4,800
MRS (HAsw) 100,000 100,000 0
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DA ED
CHRES(HENE
J

CURAAXNE(HEIIEL)

u

Y~

SN FH-SA(EN) - MBAY - BES

LHEHHXE(HHEIIE D)
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